Company name:

N Created by:
Ph :
GRUNDFOS »\
Date: 17/01/2024

48000052 LP 100-125/137 A-F-A-AUUE 50 Hz

H LP 100-125/137 | eta
[m] [%]
26
24
22
20
184
16 4
14 4
124
10 100

8- \ N
6 4 |60
4 140
24 20
0 T T T T T T T T T T T T T T
0 10 20 30 40 50 60 70 80 90 100 110 120 130 Q [m¥h]

Pumped liquid = Water

Liquid temperature during operation = 20 °C

Density = 998.2 kg/m?

P2 NPSH
kW] [m]

74 I35
6 4 30
5 25
4 20
3 15
24 10
14 5
0 0

Printed from Grundfos Product Centre [2024.02.004] 1/3



Company name:
Created by:

GRUNDFOs Y ™=
Date: 17/01/2024
Description Value [rt'ﬂ \M F’}na]
General information: 26
Product name: LP 100-125/137 01 ]
A-F-A-AUUE
Product No: 48000052 229
EAN number: 5700390473457 201
Technical: 18+
Pump speed on which pump data are 2900 rpm 164
based: 14 4
Rated flow: 96 m*/h 124
Rated head: 20 m 10 1. 100
Actual impeller diameter: 137 mm g | 80
Impeller nom: 125 mm 6 | 60
Primary shaft seal: AUUE 4l | 40
Pump version: A 5 20
Model: C 0
Materials: 0 20 40 60 80 100 120 Q [meth]
Pump housing: Cast iron Pumped liquid = Water
Pump hous!ng: EN-JL1040 Isg:ls(?t;e;ngge;aéu;;/:::rlng operation = 20 °C
Pump housing: ASTM 35-40 P2 NPSH
Impeller: Stainless steel [kW]_ | (m]
Impeller: DIN W.-Nr. 1.4301
Impeller: AISI 304 6 30
Material code: A 5 | 25
Installation:
Max pressure at stated temp: 16 bar /90 °C 4 20
Flange standard: DIN 3 L 15
Pipe connection: DN 100
Pressure rating: PN 16 24 10
Port-to-port length: 550 mm 1 / 5
Flange size for motor: F265
Connect code: F 0 0
Liquid:
Pumped liquid: Water 2xo14 2x018 4xo14
Liquid temperature range: 0..90°C
Selected liquid temperature: 20 °C
Density: 998.2 kg/m? 2 M16x30 88| 4—Y 8
Electrical data: “‘ N
Power (P2) required by pump: 7.5 kW 144
Others: 195
Net weight: 60.9 kg -

232

110

8 x 219

2x M16x30 /

e
=2

Printed from Grundfos Product Centre [2024.02.004]

2/3


https://product-selection.grundfos.com/products.gotoproduct.json?productnumber=48000052&custid=GMA&frequency=50

Company name:

N Created by:
Ph :
GRUNDFOS »\
Date: 17/01/2024

48000052 LP 100-125/137 A-F-A-AUUE 50 Hz

2 x o14 2x0218 4x014

Note! All units are in [mm] unless others are stated.
Disclaimer: This simplified dimensional drawing does not show all details.

—
\ é\\m ‘d’\‘
I T
3|8 d- -o— 38
2 x M16x30 Y 1
1 & &
- 1 144
— 3 195
) 1
v
= A ]
b 235 N
= :i:
\ ﬁﬁ
|
[c ¢
T_-D D_T 2 x Rp1/4 R
i : S = T
S == 8 x 819 ST
N : | N f I
Y E _ _ = '\_ Q
o | Rp 1/4 éi\ Y /Qy |
A i | ] BTy
| Y N 7_rttjjt_,
| |
“““ I 2 x M16x30 / 10(
550 160
B - 144
220

Printed from Grundfos Product Centre [2024.02.004]

3/3





